1% QJEUULIR
== flask
1 993105
2 103.6880
3 105.3069
[SIE=2 dish
1 20099
1.9472
3 19316
22 AMALHR
=== flask
1 108.8216
2 108.3358
3 109.9064
[P =2 dish
1 19137
2 2.0850
3 20210

3% 27|ChaLts

=EEE flask
1 107.0922
2 108.0150
3 106.2403

[ =2 dish
1 19398
1.9350

3 19288

sample
2.0024
2.0075
2.0022

sample
0.5100
0.5142
0.5102

sample
2.0031
2.0039
2.0028

sample
0.5264
0.5115
0.5112

sample
2.0003
2.0013
2.0018

sample
0.5310
0.5185
0.5328

flask+sample
99.3560
103.7373
105.3448

dish+sample
24944
24355
24167

flask+sample
108.8680
108.3772
109.9648

dish+sample
24396
2.5736
2.5107

flask+sample
107.1750
108.0926
106.3149

dish+sample
24460
24266
24338
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